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1. L. HBAHLFRE (g) : WF—EBmL) Y 1: 5~10 L] (BHFREXZ 0.1g A2, I ImL 38
F—) BHTUKIBAIH, 8000g 4°CES.Lr 10min, HU EIEWAFN .

2. ME. BEE: RBAEE (104 o WG — & (mL) 25 500~1000: 1 FELA] G 500 T340
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2. WA= E T 37°CARBH T 30min.

3. BUBCE A St /96 FUA, AR 20pL B35, 160 uL %77 10uL k77 = A1 10uL 5700, ik
RE), T 412nm AWE 3min AIROGEARE, 28 10s TRIG(EIEA AL, 5 190s TIG(EIE A A2, AAMIEE
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TEPERALE X B B A A= Inmol TNB WG Ry 1 /MEHE H47.
AchE [ (nmol/min/mg prot)= (AA+e+dxV @ x10%)+ (Cpr xV ££) =T

=245x A A=+Cpr
(2) FHFEA B IHE
TEYERALE X B A SV B k= 2E 1nmol TNB WG Ry 1 MBS BA7.
AchE F§i% (nmol/min/g #EH )= (AA+e+dxV [ Ex10%+ (W xV BV #£5) =T

=245x AA+W

2. 4HEH. 40 AchE iEt
TEVERALE L B 10PN AR B AL AE 1nmol TNB fRIBE&y 1 MBS $A7 .
AchE i (nmol/min/104 cell)= (A A+e=dxV J e x10%)+ (ZUMEEXV BE+V FRED =T

= 245x A Al R B
3. I AchE i&E
TEPERALE X BT LS S A0 7= 1nmol TNB WG Ry 1 /MEFE H47.
AchE % (nmol/min /mL)= (AA+e+dxV Ex109)+V BT

=245xA\A
g: TNB FE/RIEME RS, 13.6x10° L/mol/em; d: HEBIMLYERE, 1em; V RME: RN REAER (L),
200uL=2x10L; V BE&: RBGEAR, 1mL; 105 1mol=1x10°%umol; Cpr: ZEMAKE (mg/mL); V #:
TN BB (mL), 0.02mL; W = FESJRE; T: &BAE (min), 3 mins
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TEVERALE X B B A A= Inmol TNB WG Ry 1 /MEFE H47.
AchE [ (nmol/min/mg prot)= (AA+e+dxV @ x10%)+ (Cpr xV ££) =T
=490x A A+Cpr
(2) FHFEA B IHE
TEYERRALE X B A SV B k= 2E 1nmol TNB WG Ry 1 MBS $A7.
AchE F§i% (nmol/min/g #EH )= (AA+e+dxV [ Ex10%+ (W xV BE+V #£5) =T
= 490x AA+W
2. 4HE. 40/ AchE iEt
TEPERALE L B 10PN AR B AL 1nmol TNB fRIBE &y 1 ANEEVE HA7 .
AchE FB§iE (nmol/min/104 cell)= (A A+e=dxV J e x10%)+ (ZUMBEEXV BE+V FRED =T
= 490x A A4l R B &
3. I AchE i&EH#
FEPERALE X BT LS S A0 7= 1nmol TNB BIEGE Y 1 /MEFE H47.
AchE % (nmol/min /mL)= (AA+e+dxV Ex109)=V BE=T
=490x AA
g: TNB BE/RIHMERE 13.6x10° L/mol/em; d: 96 LR AR, 0.5cm; V RE: MRS ER (L),
200uL=2x104L; V BE&: IRBGEAR, 1mL; 108 1mol=1x10°%umol; Cpr: ZEAKE (mg/mL); V #:
TN BB (mL), 0.02mL; W = FESJRE; T: &BAE (min), 3 mins



